16. Fixing rear under protector @ to the rear bumper <1>

Rear bumper
/ nV\
£
Liftup, e
: » ,,,,,,,,,
i Rear c:a@
i protector {1
Align .%w center.

/

)i

/ /\
M6 rubber e 1
washer i3 hexagonal screw (2}

MS5 X 20 tapping screw &; Cross section h

DETAIL
M6 Egm\:

\ washer (3

Goo X Rear under,
d No mooa Rear bumper  protactor (1)

?.mn& b\

17. Preventing the rear bumper from being scratched

H*Apply gum tape on the shaded part.

Rear bumper

protector (I

18. Fixing rear under protector (D to the rear bumper

Rear under LR
protector {1

(1) Install rear under protector (D into the rear
bumper by inserting the bolt of retainer of
rear under protector @ into the holes
made in the procedure 8.-(1).

(2) Align the center of rear under protector @
to the rear bumper as illustrated.

{3) Fix the retainer part of rear under protector
@ to the rear bumper with rubber washer
@ and M6 nut @ as illustrated. (1
position)

ACaution

Lifting the corner of rear under protector
@ up, install the protector onto the
stagger of rear bumper.

(4) Fix the lower part of rear under protector D
to the rear bumper with M6 X 16 hexagonal
screw @ and M6 nut @ as iliustrated. (2
positions) Fix the position @A close to
vehicle center first. Tighten while pushing
the protector up and forward.

(5) Fix the lower side of rear under protector @
{o side of rear bumper with M5 X 20 tapping
screw ® as iflusirated. (1 position) Tighten
while pushing the protector up and forward.

(1) Apply gum tape to the rear bumper as
illustrated for preventing the rear bumper

from being scraiched.

<2>

{1) Using 2 people, remove the rear bumper
and rear under protector @ from the
vehicle.

ACaution

Be careful not to damage the vehicle
while removing the rear bumper and rear
under protecior D. Protect the removed
rear bumper from scratch.

(2) Fix the rear under protector ) to rear part
of the rear bumper with M5 rubber washer
® and M6 nut @ as illustrated. (1
position)

ACaution

Install rear bumper protector @) above
the stagger line of rear bumper. See
Cross section i.

{3) Tighten up all fasteners.




